Algebra 2

Review for Quarter 3 Quarterly Exam

Sketch the graph of each function. B \-S P
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State the maximum number of turns the g1 aph of each functl n could malke.

=x—4x*+5

(2)

3) /()

ON\R

LLAaD

Describe the end behavior of each function.
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Name each polynomial by degree and number of terms.
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. Evaluate each function at the given value using synthetic substitution.

11) f(x)=x3—8x2+15x-3 atx=12
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12) f(m) =m* +8m® + 16m> —3m -8 atm=-3
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Find all zeros by factoring each completely. AN _
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Find all zeros.
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Slmpllfy Your answer should contain only positive exponents.
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